EVENT - ICE SHEET MELTING
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Resources: 

NASA Goddard Space Flight Center
NG1 - http://www.gsfc.nasa.gov/topstory/20020606greenland.html
NG2 - http://www.nasa.gov/centers/goddard/news/topstory/2008/greenland_speedup.html
NG3 - http://www.nasa.gov/centers/goddard/news/topstory/2003/1023esuice.html
NASA

N1 - http://www.nasa.gov/vision/earth/environment/cryosphere.html
N2 - http://www.nasa.gov/topics/earth/features/greenland_temps.html
National Public Radio (NPR) – Science Friday

NPR - http://www.sciencefriday.com/pages/2006/Jun/hour1_060206.html
We are the Weathermakers

WATW - http://www.theweathermakers.org/
EHOW

EHOW - http://www.ehow.com/how-does_4741329_ice-affect-ocean-water-levels.html
GREENPEACE

GP - http://archive.greenpeace.org/climate/arctic99/reports/seaice3.html
ECOLOGY.COM

ECOL - http://ecology.com/featuresarchive/earthwarms/
GREENFACTS.ORG

GF - http://www.greenfacts.org/en/arctic-climate-change/l-2/3-sea-level-rise.htm
WOODS HOLE OCEANOGRAPHIC INSTITUTION
WO - http://www.whoi.edu/page.do?pid=12317
GREENHOUSE GASES:

E > H > L > B > A > E (Ice melt thaws permafrost exposing plant material that releases CO2 (greenhouse gases) that heat the Atmosphere resulting in more ice melt)

Carbon is currently trapped as organic matter in the permafrost (frozen soil) of the Arctic. During the summer, when the top layer of permafrost thaws, and plant material on dry land or ponds decomposes, methane – a very potent greenhouse gas – and CO2 are released. Higher temperatures lead to an increase in the rate of decomposition and gas production, and possibly to a feedback loop with more warming that results in more releases, causing more warming, and so on. 
In the Arctic, vast amounts of methane are trapped in permafrost and in cold ocean sediments in a solid icy form (as methane hydrates or clathrates). A rise in temperature within the soil could initiate the release of methane from permafrost to the atmosphere. This release is a less certain outcome of climate change than the other emissions discussed here because it would probably require greater warming and take more time to occur. If such releases were to take place, the climate impacts could be very large. 

Currently, the direct effect of the Arctic Ocean on the level of CO2 in the atmosphere is limited. This is due to the presence of sea ice that limits the absorption of CO2 by the water and its uptake by organisms living near the water surface. A reduced ice cover could significantly increase the amount of carbon taken up by the Arctic Ocean. While these changes are likely to be important regionally, the total area affected is not large enough to significantly reduce global CO2 concentrations in the atmosphere. 







